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QUESTION 1

Danica needs to consume an OpenSocial gadget in her IBM Notes Web application. The rendered page is generated
from a Form design element. 

What is the best way to add an OpenSocial gadget to her web-based Notes Form? 

A. Create a computedText field and make it a Pass thru-HTML text area. For the computed value enter the appropriate
Javascript within . ,tags. 

B. Create a computedText field and make it a Pass thru-HTML text area and call @GetOpenSocialStream
(URL;UserName;Password);. 

C. Create a Form text field and make it computed. For the computed value enter in
@GetOpenSocialStream(URL;UserName;Password);. 

D. Create a computedText field and make it a Pass thru-HTML text area. For the computed value enter
@AjaxRequest(URL;UserName;Password);. 

Correct Answer: A 

 

QUESTION 2

Why would a developer use DataPipelining for accessing IBM Connections social APIs? 

A. minifies the returned JSON object 

B. provides XML to JSON serialization 

C. reduces the number of client server requests 

D. enables easier debugging, pipelining logs to the console 

Correct Answer: C 

 

QUESTION 3

In order for users to render an OpenSocial gadget in IBM Notes or IBM iNotes, what is required in the Person
document? 

A. The User id must be stored in the Person document. 

B. "Allow Foreign directory synchronization" field must be set to "Yes". 

C. "Format preference for incoming mail" field must be set to "Prefers Mime". 

D. "Internet Address" field must be populated with the user\\'s Internet email address. 

Correct Answer: A 
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QUESTION 4

Marco is creating an OpenSocial gadget that would retrieve and show dynamically created data. Which approach can
result in performance improvement? 

A. Disable image pre-loading. 

B. Use Cache-Control HTTP header. 

C. Load all external content using Ajax. 

D. Deliver all resources from external domains. 

Correct Answer: B 

 

QUESTION 5

When creating an embedded OpenSocial gadget, which two data models are used? 

A. CSS 

B. XML 

C. HTML 

D. JSON 

E. JavaScript 

Correct Answer: BD 
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